Nasobeni zlomku - |

A B C
1 1 _ 1 1_ 1 1 _
2 3 3 4 5 2
2 4 _ 7 1 _ 4 3 _
3 5 8 5 5 7
2 5 _ 4 5 _ 5 1
6 7 8 9 10 8
10 _ 4 20 _ 20_5
20 25 12 40 30 15
8 7 _ 9 _ 6 15
12 14 27 16 18 25
3.1 = i.zz 4=
10 10 10
z_zz 3= £2=
0 45 40 0 _ 0 60
21 60 55 17 19 66
16 25 _ 18 8 _ 12 22
30 24 32 27 33 18
80 60 _ 20 55 _ 72 50
100 120 22 80 80 90
1 2 3 4 5
10-9 8-7 6-4 3-2 1-0
20-18 | 17-14 13-8 7-4 3-0
30-28 | 27-22 | 21-13 12 -7 6-0




Nasobeni zlomku — | - FeSeni

A B C
1 1_1 1 1_ 1 1_1
2376 3i T 572710
2 4_ 8 7 1_7 4 3_12
3571 55 % 57773
2 5_5 4 5_ 5 11
s 772 5 9 18 08 16
10 1 4 20 _1 20 5 2
20 25" 10 2 %0 6 30 155
8 7 _1 9 4 1 15 1
2 s 27 16 12 8 25 5
3.7 21_,1 9 ,_18_ 4 , 3 12
10 10 10 10 10 5 10 10
5 10 2 7 21 1 7 14
s 275 713 3575723 §%7% T
0 45 40 O 0 60
21 60 0 55 17 0 5 66 0
16 25 _5 18 8 _1 12 22 4
30 249 32276 33 185
80 60 _ 2 20 55 5 72 50 1
100 120 5 22 80 8 80 90 2
1 2 3 4 5
10-9 8-7 6-4 3-2 1-0
20-18 | 17-14 13-8 7-4 3-0
30-28 27 -22 21-13 12-7 6-0




Nasobeni zlomku - Il

A B
10 8 _ 12 16 _
16 12 20 24
11 18 _ 16 24 _
12 22 30 36
27 24 _ 15 45 _
36 30 20 50
24 5 5 26
30 36 39 30
4 7
3-_: —_— —_
9 15
9 11
_I2= 2I_=
10 12
3 1 2 1
_l1_= _l1_:
5 "6 7 T4
1 5 3 .2
2-+1—= 1--2-=
5 11 4 “7
3 _1 4 4
1=-2=-= 2--1-=
5 78 9 "5
1 1 1 .2
3--1== 1--2=-=
2 T2 4 ~3
1 3 4 5
10-9 | 8-7 6- 3.2 1-0
20-18 17 -14 13 - 7-4 3-0




Nasobeni zlomku - Il - Feseni

A B
10 8 8 12 16 _ 2
16 12 15 20 24 5
11 18 3 16 24 16
12 22 4 30 36 45
27 24 1 15 45 27
36 30 5 20 50 40
24 5 1 5 26 1
30 36 3 39 30 9

4 7 2
3:—== —:3=1=

9 15 5
9 1 11 5
—2=1- 2-—==1-=
10 12 6
3 1 2 .1 5
_l1_=_ —I1—=_
5 "6 10 7 T4 14
1 5 1 3 .2
2-+-1—=3-= 1--2=-=4
5 11 5 4 "7

3 1 2 4 4 2
1--2==3= 2-+1-=4-=
5 78 5 9 "5 5
1 1 1 1 2 1
3--1-=5-= 1--2==3-=
2 T2 4 4 73 3
1 2 3
10-9 | 8-7 6- 3.2 1-0
20-18 17 -14 13 - 7-4 3-0




v é

Déleni zlomku — |

A B
1.3 _ 2 1 _
2'5 5°3
3 4 2 5
7°5 97
2 4 6 4
7°8 7°5
15 20 _ 12 20 _
16 " 24 15 " 25
4 9 14 10 _
8 18 21°20
6 12 _ 30 _
10 20 40 " 12
1 1
6:-= 5:-=
2 3
3
_:2= -2 =
4
1 1
1:-—= 3:==
3 2
7 9
—: 14 = — 18:
15 16
1 2 3 4 5
10-9 8-7 6-4 3-2 1-0
20-18 17 -14 13-8 7-4 3-0




Déleni zlomku — | - Feseni

A B
1 3 _5 2.1_11
2°5 6 5°'3 5
3 4 15 2 5 14
7°5 28 9°7 45
2 4 _4 6 4 .1
7°8 7 7°5 14
15 20 9 12 20 _
16 " 24 16 15 " 25
4 9 _ 14 10_11
8 18 21°20 3
6 12 _ 30 1
10 " 20 40 " 12
1
6:-=12 5:-=15
3
3 3 2 1
—:2== -:2==
4 8 3 3
1 1
1:—=3 3:—==6
3 2
1 9
—: 14 =— —:18=—
15 30 16 32
1 2 3 4 5
10-9 | 8-7 6- 3.2 1-0
20-18 17 -14 13-8 7-4 3-0




Déleni zlomku - Il
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